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Main Ideas                                             Cellular/ Aerobic Respiration
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What is Cellular      -Conversion of food/ __________  into_______________ present 
Respiration?            - Aerobic (“Airobic”) = oxygen required

· Occurs in the Mitochondria  
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What is the              Chemical equation: __________________________________________
Equation?                Word form: ________________________________________________
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Where does it          - In the ________________
Take place?              
· _ separate reactions occur: _________________________________
What is Glycolysis    _________ occurs in the cytosol and is _________ 
?                              - _ molecule of ___________  males _ molecules of _____
-Glucose is the ________________________

What is Krebs         _____ reaction of cellular respiration is ____________________ 
Cycle?                     Makes __________________________
Makes _ molecules of ____

  What is the           -____stage of cellular respiration is _____________________
Electron transport – Occurs on the cristae _____________________________
Chain?                  -Uses high energy electrons from Kreb’s to convert ADP to ATP

· Makes ___ molecules of ATP

· Produces water as a _______________.

Main Ideas                                         Cellular Respiration

The Totals              Glycolys= _ ATP

                                Krebs cycle= _ATP

                                Electron transport chain= __ ATP

                                Total= 36 molecules of ATP from __________________
 
Why ATP instead 1)t used to fuel/power ____________________  because: 1) ATP releases
Of glucose?           Energy in a _____________________ , compared glucose (think controlled fire vs.Explosion)

                              2) ATP enery is available immediately, + glucose takes time.

                               ATP= ________________________
                                  = A-P-P-P

                                   ________________
                               When a cell needs energy,  ______________________ are broken by an

                                Enzyme.

                               A-P-P-P ( Energy A-P-P-P 

                                (ATP)                 (ADP)
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